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Tim thoi gian két thic Ho va Tén:
Xac dinh thoi gian két thiic cho mdi vin deé. Cau tra loi
Vd) 6:20 + 3giova25phat = 9:45 e 9:45
1) 2:30 + 1gioval5phat = 1
2) 525 + 2gidva30phat = ,
3) 7:10 + 1giovad4Sphat = X
4) 320 + 1gidoval0ophat = ,
5) 4:35 + 2giova25phat = S
6) 7:55 + 3gidval5phat = ]
7) 1:10 + 3 giovas5phat = ;
8) 6:40 + 1 gid vas50phat = .
9) 5:10 + 2gidval0phat = .
10) 7:05 + 3 gio va30phat = 0
11) 2:20 + 3 gid va5phat = 0
12) 4:10 + 3 gidvaSphat = b
13) 5:40 + 1 gio va50 phat = "
14) 7:10 + 1 gid va20 phut = o
15) 5:05 + 2gio va 50 phat = s
16) 4:20 + 2 gio va 10 phat = 6
17) 1:25 + 2giova 50 phat = 7
18) 4:50 + 2gid va25phat = 8
19) 6:25 + 1gio =
19.
20) 3:50 + 1 gio va45phat = 2
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Tim thoi gian két thic

Ho va Tén: Loi gifli

Xac dinh thoi gian két thiic cho mdi vin deé.

Cau tra loi

Vd) 6:20 + 3giova25phat = 9:45
vd. 9:45
1) 2:30 + lgiovalsphat =  3:45 . 3:45
2) 5:25 + 2giova30phat = 7:55
,  T:55
3) 7:10 + 1 giovadsphat = 8:55 N 8:55
4) 3:20 + 1giovalophat =  4:30 s 4:30
5) 4:35 + 2gidva25phat = 7:00 S 7:00
6) 7:55 + 3giovalsphat = 11:10 . 11:10
7) 1:10 + 3giovasphat = 4:15 . 4:15
8) 6:40 + 1 gidva50phat = 8:30 N 8:30
9) 5:10 + 2gidval0phat = 7:20 o 7:20
10) 7:05 + 3 gio va30phat = 10:35 0. 10:35
11) 2:20 + 3 gidvaSphat = 5:25 . 5:25
12) 4:10 + 3 giovasphat = 7:15 . 7.15
13) 5:40 + 1 giorva50phat = 7:30 . 7.30
14) 7:10 + 1 giova20phat = 8:30 o 8:30
15) 5:05 + 2 giova50phat = 7:55 s 7.55
16) 420 + 2 giova 10 phat = 6:30 » 6:30
17) 1:25 + 2giova 50 phat = 4:15 7 4:15
18) 4:50 + 2 giy va 25 phat = 7:15 s 7.15
19) 625 + 1gio = 7:25 9. 7:25
20) 3:50 + 1 gidvadsphat = 5:35 » 5:35
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